

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SLU 999R

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	BOOTLID	DENTED	986.00	680.00
1	BOOTLID INER TRIM GARNISH	SERVICEABLE	356.00	-
2	BOOTLID HINGE @\$78.00	BENT	156.00	156.00
1	BOOTLID CENTRE GARNISH	CRACKED	175.00	175.00
1	BOOTLID LOGO	NECESSARY	98.00	98.00
1	BOOTLID INNER LOCK	JAMMED	195.00	195.00
1	BOOTLID LOCK SENSOR	CRACKED	186.00	120.00
1	BOOTLID WEATHER STRIP	CRUMPLED	195.00	195.00
2	TAILLAMP BASE PANEL @\$197.00	N/S DENTED	394.00	197.00
1	REAR BUMPER	CRUMPLED	725.00	580.00
2	REAR BUMPER SIDE RETAINER @\$68.00	BROKEN	136.00	136.00
2	REAR BUMPER BRACKET @\$48.00	BROKEN	96.00	96.00
2	REAR BUMPER REFLECTOR @\$164.00	SERVICEABLE	328.00	-
1	REAR BUMPER REINFORCEMENT	BENT	370.00	370.00
2	REAR FENDER @\$1018.00	N/S DENTED	2,036.00	980.00
2	REAR FENDER INNER SHIELD @\$194.00	SERVICEABLE	388.00	-
2	REAR FENDER INNER TRIM GARNISH @\$320.00	CUT	640.00	640.00
1	REAR WINDSCREEN MOULDING	SERVICEABLE	132.00	-
1	SPARE TRYE TOP BOARD	CRUMPLED	245.00	245.00
1	SPARE TYRE PANEL	TO REPAIR SEE LABOUR	894.00	-
2	SPARE TYRE TOP SIDE PANEL @\$270.00	TO REPAIR SEE LABOUR	540.00	-
1	REAR END PANEL	DENTED	580.00	580.00
1	REAR END PANEL TOP GARNISH	CRUMPLED	145.00	145.00
1	EXHAUST BOX	SERVICEABLE	980.00	-
4	EXHAUST MOUNTING @\$68.00	SERVICEABLE	204.00	-
1	FRONT BUMPER	DEFORMED	675.00	550.00
2	FRONT BUMPER SIDE RETAINER @\$68.00	BROKEN	136.00	136.00
1	FRONT BUMPER CENTRE INNER BRACKET	SERVICEABLE	195.00	-
1	FRONT BUMPER CENTRE AIR-GRILLE	SERVICEABLE	168.00	-

Report Ref No. CS1/LPC21002397/Qvd3e2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	FRONT BUMPER TOP SEAL	NECESSARY	45.00	45.00
1	FRONT BUMPER REINFORCEMENT	SERVICEABLE	324.00	-
1	FRONT BUMPER SPONGE	CRUMPLED	260.00	260.00
2	FRONT FENDER @\$430.00	SERVICEABLE	860.00	-
2	FRONT FENDER INNER SHIELD @\$128.00	SERVICEABLE	256.00	-
2	FRONT HEADLAMP BRACKET @\$42.00	BROKEN	84.00	84.00
1	BONNET	SERVICEABLE	780.00	-
1	BONNET RUBBER	SERVICEABLE	28.00	-
1	BONNET LOCK	SERVICEABLE	195.00	-
1	FRONT SUPPORT PANEL	SERVICEABLE	776.00	-
1	FRONT SUPPORT PANEL TOP GARNISH	SERVICEABLE	228.00	-
2	FRONT SUPPORT PANEL SIDE GARNISH @\$56.00	SERVICEABLE	112.00	-
	LESS 25% DISCOUNT		-	-1,665.75
			16,302.00	4,997.25
	SPECIAL NETT ITEMS			
1	SUNDRIES (SN)	SERVICEABLE	50.00	-
1	BOOTLID SEALANT (SN)	NECESSARY	80.00	30.00
2	BOOTLID LAMP (LED/ACCESSORY) @\$520.00 (SN)	SCRATCHED	1,040.00	760.00
2	TAILLAMP @\$760.00 (LED/ACCESSORY)(SN)	CRUMPLED	1,520.00	832.00
1	SET REAR PARKING SENSOR (SN)	SHORTED	300.00	240.00
1	REAR NUMBER PLATE W/GARNISH (SN)	SERVICEABLE	80.00	-
1	REAR BUMPER LOWER SPOILER (ACCESSORY)(SN)	CRUMPLED	720.00	400.00
1	SET REAR BUMPER CLIPS (SN)	NECESSARY	80.00	30.00
1	SET REAR END PANEL TOP GARNISH CLIPS (SN)	NECESSARY	45.00	20.00
1	REAR END PANEL SEALANT (SN)	NECESSARY	80.00	30.00
1	REAR SPARE TYRE PANEL INSULATOR (ACCESSORY) (SN)	SERVICEABLE	450.00	-
1	EXHAUST CHROME SLEEVE (SN)	SCRATCHED	270.00	100.00
1	RADIATOR COOLANT (SN)	SERVICEABLE	55.00	-
1	FRONT BUMPER LOWER LIP (ACCESSORY)(SN)	SERVICEABLE	820.00	-
2	FRONT BUMPER DAYLIGHT (ACCESSORY)@\$280.00 (SN)	SCRATCHED	560.00	220.00
1	RADIATOR GRILLE (ACCESSORY)(SN)	CRACKED	680.00	480.00
2	FRONT HEADLAMP @\$850.00 (SN)	CRACKED	1,700.00	1,700.00

Report Ref No. CS1/LPC21002397/Qvd3e2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	FRONT NUMBER PLATE W/GARNISH (SN)	CRUMPLED	80.00	60.00
1	SET FRONT BUMPER CLIPS (SN)	NECESSARY	80.00	30.00
1	SET COMPLETE MAT-GREEN VINYL WRAPS (ACCESSORY)(SN)	NECESSARY	3,800.00	800.00
			12,490.00	5,732.00
	<u>LABOUR</u>			
	TO DISMANTLE/RENEW REAR ACCIDENT DAMAGED PORTION.TO PANEL BEATING,RESHAPE,STRAIGHTEN, ORIENTATE AND ALIGN REPAIR/REPLACEMENT PARTS.INCLUSIVE OF THE REPAIR OF SPARE TYRE PANEL AND SPARE TYRE TOP SIDE PANEL.		1,600.00	1,000.00
	TO DISMANTLE/RENEW FRONT ACCIDENT DAMAGED PORTION.TO PANEL BEATING,RESHAPE,STRAIGHTEN, ORIENTATE AND ALIGN REPAIR/REPLACEMENT PARTS.		1,500.00	200.00
	TO DISCONNECT WIRE HARNESS OF ELECTRICAL COMPONENT TO FACILITATE REPAIRS,RECONNECT AND CHECK FUNCTIONS.		80.00	30.00
	TO REMOVE AND REFIT INTERIOR UPHOLSTERY TO FACILITATE THE REPAIR.		200.00	60.00
	TO REMOVE AND REFIT REAR WINDSCREEN TO FACILITATE THE REPAIR.	NOT NECESSARY	180.00	-
	TO REMOVE AND REFIT BOOTLID COMPONENT TO REPLACE BOOTLID,CHECK AND RE-ADJUST THE CLOSE GAP AND ALIGNMENT AND WATER SEEPAGE.		100.00	60.00
	TO REMOVE AND REFIT,STRAIGHTEN AND READJUST EXHAUST PIPE AND REPLACE EXHAUST SILENCER.		200.00	30.00
	TO REMOVE AND REFIT A/C CONDENSER TO FACILITATE REPAIR.TO CONFIRM ON THE A/C TEMPERATURE.	NOT NECESSARY	150.00	-
	TO REMOVE AND REFIT RADIATOR TO FACILITATE REPAIR TO PERFORM PRESSURE TEST AND CONFIRM ON THE COOLING SYSTEM.	NOT NECESSARY	150.00	-
	TO MEASURE,DRILL HOLES ON REPLACED REAR BUMPER,POSITION AND INSTALL REVERSE SENSOR,CHECK AND TEST ON THE DISTANCE AND FUNCTIONS.		80.00	30.00
	TO APPLY UNDERCOATING ON THE ACCIDENT REPAIR AND REPLACED PANEL FOR RUST PROTECTION.		200.00	40.00
	SUPPLY SPRAY PAINT MATERIAL AND NECESSARY ITEM TO RESPRAY BOOTLID,REAR BUMPER,REAR END PANEL,TAILLAMP BASE PANELS,REAR FENDERS,SPARE TYRE PANEL AND OTHER AFFECTED AREA/PANEL.		1,500.00	1,000.00

Report Ref No. CS1/LPC21002397/Qvd3e2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	SUPPLY SPRAY PAINT MATERIAL AND NECESSARY ITEM TO RESPRAY FRONT BUMPER,BONNET,FRONT SUPPORT PANEL,FRONT FENDERS AND OTHER AFFECTED AREA/PANEL.		1,200.00	200.00
			7,140.00	2,650.00
	GRAND TOTAL		35,932.00	13,379.25

RECOMMENDED COST OF LUMP SUM REPAIRS		10,700.00
(TO ITS PRE-ACCIDENT CONDITION)		

Report Ref No. CS1/LPC21002397/Qvd3e2

Ja

OI SUN PIN

Asst. Automotive Assessor

X.2.

ADRIAN LING WAI PING

B.Eng, AMSOE, AMIRTE, AMSAE-A, M. MATAI

Licensed Appraiser

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.